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Subtraction

Instructions: Solve the subtraction problems below.

M3PS2.1

Prim is a pig that weighs 13,545 grams. If she
loses 2,380 grams, how much will she weigh?

Jonathan is reading a book with 7,019 pages.
If he has 5,229 pages left to read, how many
pages has he already read?

A stadium has 13,997 yellow and green seats.
If 6,584 of them are green, how many seats
are yellow?

Dan has to drive 45,688 metres before he
reaches his friend’s house. If he stops for a
break after 23,415 metres, how far does he
still have to drive?

A truck is carrying 40,314 oranges. If 2397 of
them become rotten, how many oranges can
still be eaten?
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Adam has 26,990 points in a game. For every
life you lose, you lose 1265 points. How many
points will he have left if he loses 2 lives?

$9,878, how much money will he have left?

There are 18,349 books for sale at a
bookstore. If there are only 13,652 left, how
many have been sold?

Ben scores 56,243 points in a video game.
For every life he loses, he loses 1,505 points.
How many points will he have if he loses 2
lives?

Bindy has a swimming pool that can hold
24,568L of water. If there is only 13,269L of
water in it, how much more water can it hold?

June has $90,565. If she buys a new car for
$31,990 and a new TV for $4320, how much
money will she have left?

Caleb has $15,985. If he buys a car for
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Subtraction

Instructions: Solve the subtraction problems below.

M3PS2.2

A giant parking lot has 11,889 spaces. How
many spaces are taken if there are 4,680
empty spaces?

Becca runs 12,689 metres to the beach every
morning. If there is a path that makes the
beach 3516 metres closer, how far will she

Laila is 15,638 metres away from the party. If
she has already driven 3215 metres, how
much further does she have to drive?

have to run using this shortcut?

There are 36,780 flowers in a field. If 14,667
of them are plucked, how many are left?

A factory makes 78,565 litres of soda a day. If
they sell 62,987 litres, how much soda will
they have left?
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M3PS2.2

A famous singer is selling 24,567 concert
tickets. If 17,920 of them have already been
sold, how many tickets are left?

There are 34,570 people living in a small
village. If 13,895 of them leave the village,
how many people will be left?

A store has 23,896 pieces of fruit to sell. If it
has 13,420 left by the end of the day, how
many pieces of fruit did they sell?

Alfred needs to drive 58,783 metres to reach
the city. If he has only driven 29,430 metres,
how much further does he have to drive?

A brand-new motorbike costs $42,499. Ifitis
on sale for $38,779, how much is the
discount?

The high score for a game if 78,976 points. If
Rana is on 39,897 points, how many more
points does she need to reach the high
score?
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